

See a Social Security Number? Say Something! Report Privacy Problems to https://public.resource.org/privacy Or call the IRS Identity Theft Hotline at 1-800-908-4490



Return of Private Foundation

or Section 4947(a)(1) Nonexempt Charitable Trust Treated as a Private Foundation

OMB No 1545-0052

		artment of the Treasury nal Revenue Service	l ,	lote. The foundation		I reated as a Privat be able to use a copy of this			rtina requirements.	ZU IU
		calendar year 2010,			SEP		, and e		AUG 31, 2011	<u></u>
	G C	Check all that apply:		Initial return		Initial return of a f	ormer public o		Final return	
				Amended return	_	Address char	nge		Name change	
	Nar	me of foundation		ACE EATE					A Employer identification	number
				ACE FOUND		ON Y & AUGENSTE	יאדי		95-4769888	ı
	Nun	mber and street (or P O					1111	Room/suite	B Telephone number	· -
		•				T, SUITE 950)		310 277-36	33
	City	y or town, state, and				= /			C If exemption application is p	
		LOS A			006				D 1 Foreign organizations	s, check here
	H_C	Check type of organiz		•		kempt private foundation			2 Foreign organizations me check here and attach co	eting the 85% test, imputation
	느		_	pt charitable trust		Other taxable private found			E If private foundation sta	
		air market value of all		end of year J A	_	ng method: X Cash	L Accr	ual	under section 507(b)(1)	• •
		rom Part II, col. (c), ►\$	ine 16)	3 200 (Part	0: I. colu	ther (specify) mn (d) must be on cash	basis.)		If the foundation is in a under section 507(b)(1)	
		Analysis of R	evenue an	d Evnences		(a) Revenue and	ī	vestment	(c) Adjusted net	(d) Disbursements
		(The total of ami necessarily equ	ounts in colu al the amoun	mns (b), (c), and (d) ma ts in column (a))	y not	expenses per books		ome	income	for charitable purposes (cash basis only)
		1 Contributions,	gifts, grant	ts, etc., received		1,086,100.			N/A	
				n is not required to attach S	ch B					
		3 Interest on saving cash investments				<651.	<u> </u>	<u> </u>		STATEMENT 1
		4 Dividends and 5a Gross rents	interest iro	om securities		6,890.		<u>6,890.</u>		STATEMENT 2
		b Net rental income	or (loss)							
	đ)	6a Net gain or (loss)		assets not on line 10		<9,069.	>			
	ğ	b Gross sales price assets on line 6a	for all	102,81	1.					
	Revenue	7 Capital gain net ii		•				0.	RFC	FIVED
	_	8 Net Short-term		n					8	IVLU
_	_	9 Income modifi Gross sales less and allowances								3 2012
2 7 2012	;	b Less Cost of goo	ods sold							8
72	,	c Gross profit or	(loss)						OCDE	NIT
જ		11 Other income				4-000-050			<u> L Cabl</u>	14, 01
		12 Total. Add line			-	1,083,270.	-	<u>6,890.</u> 0.		0.
3		13 Compensation of 14 Other employe		ectors, trustees, etc		0.		0.		0.
\Box		15 Pension plans		-						
<u>u</u>	ses	16a Legal fees								
É	Expenses	b Accounting fee		STMT	3	2,075.		<u>2,075.</u>		0.
SCANNE			onal fees				-			
8	aţiv	17 Interest 18 Taxes		STMT	1	117.		117.		0.
	and Administrative	19 Depreciation a	nd depletio		-			11/•		
	Ē	20 Occupancy								
	Ρ	21 Travel, confere	ences, and	meetings						
	and	22 Printing and p			_			0.160		
	Operating	23 Other expense 24 Total operatin		STMT	5	2,168.		<u>2,168.</u>	-	0.
	era	expenses Ad	-			4,360.		4,360.		0.
	ŏ	25 Contributions,		-		132,750.				132,750.
		26 Total expense	s and disb	ursements.						
		Add lines 24 a				137,110.		<u>4,360.</u>		132,750.
		27 Subtract line 2				046 160				
			•	ises and disbursemen if negative, enter -0-)	s	946,160.		2,530.	-	
		c Adjusted net i							N/A	

023501 12-07-10 LHA For Paperwork Reduction Act Notice, see the instructions

DHARMA-GRACE FOUNDATION

Form 9	990-PF (2040) C/O MANN GELON GLODNEY			769888 Page 2
Par	Balance Sheets Attached schedules and amounts in the description column should be for end-of-year amounts only	Beginning of year	End of y	
	column should be for end-of-year amounts only	(a) Book Value	(b) Book Value	(c) Fair Market Value
1	Cash - non-interest-bearing	3,023.	23.	23.
	Savings and temporary cash investments	8,084.	59,832.	59,832.
3	Accounts receivable -			
	Less: allowance for doubtful accounts ▶			
4	Pledges receivable			
	Less: allowance for doubtful accounts			
5	Grants receivable			
6	Receivables due from officers, directors, trustees, and other			
	disqualified persons			
7	Other notes and loans receivable			
	Less: allowance for doubtful accounts			
र्ध ।	Inventories for sale or use			
Assets				
▼ 10	a Investments - U.S. and state government obligations STMT 6	0.	323,577.	<u>345,760.</u>
	b Investments - corporate stock STMT 7	0.	527,628.	
	c Investments - corporate bonds STMT 8	0.	46,207.	44,917.
11	Investments - land, buildings, and equipment basis			
	Less accumulated depreciation			
12	Investments - mortgage loans			
13	Investments - other			
14	Land, buildings, and equipment basis 🕨			
-	Less accumulated depreciation			
15	Other assets (describe)			
16	Total assets (to be completed by all filers)	11,107.	957,267.	<u>933,200.</u>
17	Accounts payable and accrued expenses			
18	Grants payable			
ဖ္မ 19	Deferred revenue			
Liabilities 51 20 21	,,,,			
[편 21	. ,			
22	Other liabilities (describe)			
_ 23	Total liabilities (add lines 17 through 22)	0.	0.	
	Foundations that follow SFAS 117, check here			
φ	and complete lines 24 through 26 and lines 30 and 31.			
월 24				
<u>R</u> 25	• •			
86 26 19				
<u>.</u> 5	Foundations that do not follow SFAS 117, check here			
or Fund Balances	and complete lines 27 through 31.			
St 27	Capital stock, trust principal, or current funds	0.	0.	
Net Assets	Paid-in or capital surplus, or land, bldg., and equipment fund	0.	0.	
¥ 29	Retained earnings, accumulated income, endowment, or other funds	11,107.	957,267.	
≝ 30	Total net assets or fund balances	11,107.	957,267.	
	7 A. P. J. 1904	11 107	057 067	
	Total liabilities and net assets/fund balances	11,107.	957,267.	
Part	Analysis of Changes in Net Assets or Fund B	alances		
1 Tota	al net assets or fund balances at beginning of year - Part II, column (a), line	30		
	is net assets or fund balances at beginning of year - Part II, column (a), line list agree with end-of-year figure reported on prior year's return)	JU		11,107.
	er amount from Part I, line 27a		1 2	946,160.
	er increases not included in line 2 (itemize)		3	946,160.
	I lines 1, 2, and 3		4	957,267.
	reases not included in line 2 (itemize)		5	957,267.
	al net assets or fund balances at end of year (line 4 minus line 5) - Part II, co	olumn (b), line 30	6	957,267.
<u> </u>	The second of th	o.c (o) into oo		Form 990-PF (2010)

023511 12-07-10

		osses for Tax on In		t Income						
(a) List and descr 2-story brick wa	ibe the k rehouse;	and(s) of property sold (e.g. or common stock, 200 shs	., real estate, s. MLC Co.)		(b) I P D	How acqu - Purcha: - Donatio	ured se on	(c) Date a (mo., da		(d) Date sold (mo., day, yr.)
1a VARIOUS PUBLIC	LY T	RADED SECURI	TIES			P		VARIO	OUS	VARIOUS
b					<u> </u>					
d										
e		=								
(e) Gross sales price	(f)	Depreciation allowed (or allowable)		st or other basis expense of sale					ın or (loss (f) mınus	
a 102,811.				111,88	0.					<9,069
<u>b</u>										
C		·								
<u>d</u>										
Complete only for assets showin	a aain in	column (h) and owned by t	the foundation	n on 12/31/69	-		//\	Gains (Co	ol (h) gain	minue
		(j) Adjusted basis		cess of col. (I)				(k), but no	ot less tha	ın -0-) or
(i) F.M.V. as of 12/31/69		as of 12/31/69		col. (j), if any	ŀ			Losses (from col.	(h))
a										<9,069
b										
С										
<u>d</u>										
e					_					
2 Capital gain net income or (net cap	pital loss	If gain, also enter If (loss), enter -0-	in Part I, line in Part I, line	7 :7	}	2				<9,069
3 Net short-term capital gain or (los	s) as def	`								
If gain, also enter in Part I, line 8,			u (0).)					
If (loss), enter -0- in Part I, line 8 Part V Qualification U		Section 4940(e) for			Ц	3			N/A	L
Vas the foundation liable for the sect f "Yes," the foundation does not quali	ıfy under	section 4940(e). Do not co	mplete this pa	art.						Yes X No
1 Enter the appropriate amount in e	ach colu		actions before	e making any entri						(d)
Base periód years Calendar year (or tax year beginnin	ng in)	(b) Adjusted qualifying dist		Net value of no	(c) nchar	ritable-us				bution ratio vided by col. (c))
2009			8,197.				,623			3.939000
2008			<u>4,963.</u>				<u>,982</u>			.66909! .234780
2007 2006			<u>8,000.</u> 5,500.				,040 ,864			.29039
2005			5,365.				$\frac{7002}{585}$.38615
***			• / · • • ·				,			
2 Total of line 1, column (d)								2		5.519420
3 Average distribution ratio for the 5	5-year ba	se period - divide the total c	on line 2 by 5,	or by the number	of ye	ars				
the foundation has been in exister	nce if less	s than 5 years						3		1.10388
4 Enter the net value of noncharitab	le-use as	sets for 2010 from Part X, I	line 5					4		1,090,925
5 Multiply line 4 by line 3								5		1,204,255
5 Enter 1% of net investment incom	ne (1% of	f Part I, line 27b)						6		25
7 Add lines 5 and 6								7		1,204,280
B Enter qualifying distributions from	n Part XII	, line 4						8		132,750
If line 8 is equal to or greater than See the Part VI instructions.			1b, and comp	olete that part usin	g a 1º	% tax rate	е.			
		+								orm 990-PE (2010

_	DHARMA-GRACE FOUNDATION			
	990-PF (2040) C/O MANN GELON GLODNEY & AUGENSTEIN 95-47			Page 4
	rt VI Excise Tax Based on Investment Income (Section 4940(a), 4940(b), 4940(e), or 4948 - se	e instru	OITOL	<u>ns)</u>
1a	Exempt operating foundations described in section 4940(d)(2), check here and enter "N/A" on line 1.			
	Date of ruling or determination letter: (attach copy of letter if necessary-see instructions)			
b	Domestic foundations that meet the section 4940(e) requirements in Part V, check here and enter 1%			<u>51.</u>
	of Part I, line 27b			
	All other domestic foundations enter 2% of line 27b. Exempt foreign organizations enter 4% of Part I, line 12, col. (b).			•
	Tax under section 511 (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
3	Add lines 1 and 2			<u>51.</u>
4	Subtitle A (income) tax (domestic section 4947(a)(1) trusts and taxable foundations only. Others enter -0-)			0.
5	Tax based on investment income. Subtract line 4 from line 3. If zero or less, enter -0-			<u>51.</u>
6	Credits/Payments:			
	2010 estimated tax payments and 2009 overpayment credited to 2010 6a 40.			
	Exempt foreign organizations - tax withheld at source 6b			
	Tax paid with application for extension of time to file (Form 8868) 6c			
_	Backup withholding erroneously withheld 6d			4.0
7	Total credits and payments. Add lines 6a through 6d			<u>40.</u>
8	Enter any penalty for underpayment of estimated tax. Check here if Form 2220 is attached 8			
9	Tax due. If the total of lines 5 and 8 is more than line 7, enter amount owed			<u>11.</u>
10	Overpayment. If line 7 is more than the total of lines 5 and 8, enter the amount overpaid			
11	Enter the amount of line 10 to be: Credited to 2011 estimated tax			
	rt VII-A Statements Regarding Activities		Vaa	Ma
1a	During the tax year, did the foundation attempt to influence any national, state, or local legislation or did it participate or intervene in	<u> </u>	res	No
	any political campaign?	1a	├──	X
D	Did it spend more than \$100 during the year (either directly) for political purposes (see instructions for definition)?	_1b	├──	X
	If the answer is "Yes" to 1a or 1b, attach a detailed description of the activities and copies of any materials published or			
_	distributed by the foundation in connection with the activities			1,7
	Did the foundation file Form 1120-POL for this year?	1c	├	X
a	Enter the amount (if any) of tax on political expenditures (section 4955) imposed during the year:			
	(1) On the foundation. ▶ \$ 0.			
е	Enter the reimbursement (if any) paid by the foundation during the year for political expenditure tax imposed on foundation		1	
0	managers. \$\ \\ \ \\ \		ł	, v
2	Has the foundation engaged in any activities that have not previously been reported to the IRS?	2	┼	<u> </u>
•	If "Yes," attach a detailed description of the activities.			
3	Has the foundation made any changes, not previously reported to the IRS, in its governing instrument, articles of incorporation, or		1	
4.	bylaws, or other similar instruments? If "Yes," attach a conformed copy of the changes Did the foundation have unrelated business gross income of \$1,000 or more during the year?	3 4a	\vdash	X
	If "Yes," has it filed a tax return on Form 990-T for this year? N/A		├	
	Was there a liquidation, termination, dissolution, or substantial contraction during the year?	4b 5	╁	X
J	If "Yes," attach the statement required by General Instruction T.	-3-		
6	Are the requirements of section 508(e) (relating to sections 4941 through 4945) satisfied either:			
U	By language in the governing instrument, or			
	By state legislation that effectively amends the governing instrument so that no mandatory directions that conflict with the state law			
	remain in the governing instrument?	6	х	
7	Did the foundation have at least \$5,000 in assets at any time during the year?	7	X	_
•	If "Yes," complete Part II, col. (c), and Part XV	<i>'</i>	 ^	
Ra	Enter the states to which the foundation reports or with which it is registered (see instructions)			
O.	CA	-		
h	If the answer is "Yes" to line 7, has the foundation furnished a copy of Form 990-PF to the Attorney General (or designate)	-		
	of each state as required by General Instruction G? If "No," attach explanation	86	х	
٩	Is the foundation claiming status as a private operating foundation within the meaning of section 4942(j)(3) or 4942(j)(5) for calendar	30	-43	
J	year 2010 or the taxable year beginning in 2010 (see instructions for Part XIV)? If "Yes," complete Part XIV	9		x
10	Did any persons become substantial contributors during the tax year? If "yes," attach a schedule listing their names and addresses	10		x

023541

b If "Yes," did it have excess business holdings in 2010 as a result of (1) any purchase by the foundation or disqualified persons after May 26, 1969; (2) the lapse of the 5-year period (or longer period approved by the Commissioner under section 4943(c)(7)) to dispose of holdings acquired by gift or bequest; or (3) the lapse of the 10-, 15-, or 20-year first phase holding period? (Use Schedule C,

b Did the foundation make any investment in a prior year (but after December 31, 1969) that could jeopardize its charitable purpose that

Form 4720, to determine if the foundation had excess business holdings in 2010.)

had not been removed from jeopardy before the first day of the tax year beginning in 2010?

4a Did the foundation invest during the year any amount in a manner that would jeopardize its charitable purposes?

N/A

3b

4a

Form **990-PF** (2010)

Х

DHARMA-GRACE FOUNDATION Form 990-PF (2010) C/O MANN GELON GLODNEY & AUGENSTEIN 95-4769888 Page 6 Part VII-B Statements Regarding Activities for Which Form 4720 May Be Required (continued) 5a During the year did the foundation pay or incur any amount to: Yes X No (1) Carry on propaganda, or otherwise attempt to influence legislation (section 4945(e))? (2) Influence the outcome of any specific public election (see section 4955); or to carry on, directly or indirectly, Yes X No any voter registration drive? Yes X No (3) Provide a grant to an individual for travel, study, or other similar purposes? (4) Provide a grant to an organization other than a charitable, etc., organization described in section Yes X No 509(a)(1), (2), or (3), or section 4940(d)(2)? (5) Provide for any purpose other than religious, charitable, scientific, literary, or educational purposes, or for __ Yes X No the prevention of cruelty to children or animals? b If any answer is "Yes" to 5a(1)-(5), did any of the transactions fail to qualify under the exceptions described in Regulations N/A5b section 53.4945 or in a current notice regarding disaster assistance (see instructions)? Organizations relying on a current notice regarding disaster assistance check here c If the answer is "Yes" to question 5a(4), does the foundation claim exemption from the tax because it maintained expenditure responsibility for the grant? N/AYes L No If "Yes," attach the statement required by Regulations section 53 4945-5(d) 6a Did the foundation, during the year, receive any funds, directly or indirectly, to pay premiums on Yes X No a personal benefit contract? 6b X b Did the foundation, during the year, pay premiums, directly or indirectly, on a personal benefit contract? If "Yes" to 6b, file Form 8870. Yes X No 7a At any time during the tax year, was the foundation a party to a prohibited tax shelter transaction? 7b b If "Yes," did the foundation receive any proceeds or have any net income attributable to the transaction? N/AInformation About Officers, Directors, Trustees, Foundation Managers, Highly Paid Employees, and Contractors List all officers, directors, trustees, foundation managers and their compensation. (d) Contributions to employee benefit plans and deferred compensation (c) Compensation (b) Title, and average hours per week devoted to position (e) Expense account, other allowances (If not paid, enter -0-) (a) Name and address 0. SEE STATEMENT 0 0 2 Compensation of five highest-paid employees (other than those included on line 1). If none, enter "NONE." (d) Contributions to employee benefit plans and deterred compensation (b) Title, and average hours per week devoted to position (e) Expense account, other (a) Name and address of each employee paid more than \$50,000 (c) Compensation allowances NONE

023551

Total number of other employees paid over \$50,000

Form 990-PF (2010) C/O MANN GELON GLODNEY & AUGENST	EIN 95-	4769888 Page 7
Part VIII Information About Officers, Directors, Trustees, Foundat Paid Employees, and Contractors (continued)	ion Managers, Highly	
3 Five highest-paid independent contractors for professional services. If none, enter	"NONE."	
(a) Name and address of each person paid more than \$50,000	(b) Type of service	(c) Compensation
NONE		
	7	
	1	
	1	
	1	
Total number of others receiving over \$50,000 for professional services		▶ 0
Part IX-A Summary of Direct Charitable Activities		
List the foundation's four largest direct charitable activities during the tax year. Include relevant statistic	cal information such as the	
number of organizations and other beneficiaries served, conferences convened, research papers produ	iced, etc.	Expenses
1 N/A		
2		
3		
4		
		<u></u>
Part IX-B Summary of Program-Related Investments		
Describe the two largest program-related investments made by the foundation during the tax year on li	nes 1 and 2.	Amount
1 <u>N/A</u>		
2		
 		
All other program-related investments. See instructions.		
3		
		
Total. Add lines 1 through 3	<u> </u>	0.
		Form 990-PF (2010)

Page 8

P	art X Minimum Investment Return (All domestic foundations must complete this part. Foreign four	ndations,	see instructions)
1	Fair market value of assets not used (or held for use) directly in carrying out charitable, etc., purposes:		
a	Average monthly fair market value of securities	1a	897,403.
	Average of monthly cash balances	1b	210,135.
C	Fair market value of all other assets	1c	
đ	Total (add lines 1a, b, and c)	1d	1,107,538.
е	Reduction claimed for blockage or other factors reported on lines 1a and		
	1c (attach detailed explanation) 1e 0.		
2	Acquisition indebtedness applicable to line 1 assets	2	0.
3	Subtract line 2 from line 1d	3	1,107,538.
4	Cash deemed held for charitable activities. Enter 1 1/2% of line 3 (for greater amount, see instructions)	4	16,613.
5	Net value of noncharitable-use assets. Subtract line 4 from line 3. Enter here and on Part V, line 4	5	1,090,925.
6	Minimum investment return. Enter 5% of line 5	6	54,546.
P	Distributable Amount (see instructions) (Section 4942(j)(3) and (j)(5) private operating foundations and foreign organizations check here and do not complete this part.)	d certain	
1	Minimum investment return from Part X, line 6	1	54,546.
2a	Tax on investment income for 2010 from Part VI, line 5		·
b	Income tax for 2010. (This does not include the tax from Part VI.)	1	
C	Add lines 2a and 2b	2c	51.
3	Distributable amount before adjustments. Subtract line 2c from line 1	3	54,495.
4	Recoveries of amounts treated as qualifying distributions	4	0.
5	Add lines 3 and 4	5	54,495.
6	Deduction from distributable amount (see instructions)	6	0.
7	Distributable amount as adjusted. Subtract line 6 from line 5. Enter here and on Part XIII, line 1	7	54,495.
P	art XII Qualifying Distributions (see instructions)		·
1	Amounts paid (including administrative expenses) to accomplish charitable, etc., purposes:		120 550
a	Expenses, contributions, gifts, etc total from Part I, column (d), line 26	1a	132,750.
b	Program-related investments - total from Part IX-B	1b	0.
2	Amounts paid to acquire assets used (or held for use) directly in carrying out charitable, etc., purposes	2	
3	Amounts set aside for specific charitable projects that satisfy the:		
a	Suitability test (prior IRS approval required)	3a	
b	Cash distribution test (attach the required schedule)	3b	132,750.
4	Qualifying distributions. Add lines 1a through 3b. Enter here and on Part V, line 8, and Part XIII, line 4	4	132,730.
5	Foundations that qualify under section 4940(e) for the reduced rate of tax on net investment	_	0
	Income. Enter 1% of Part I, line 27b	5 6	0. 132,750.
6	Adjusted qualifying distributions. Subtract line 5 from line 4		***
	Note. The amount on line 6 will be used in Part V, column (b), in subsequent years when calculating whether the foundation of 4940(e) reduction of tax in those years.	juaimes 10	i ine section

Form 990-PF (2010)

Part XIII Undistributed Income (see instructions)

	(a) Corpus	(b) Years prior to 2009	(c) 2009	(d) 2010
1 Distributable amount for 2010 from Part XI,				
line 7				<u>54,495.</u>
2 Undistributed income, if any, as of the end of 2010				
a Enter amount for 2009 only			0.	
b Total for prior years:				
,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,, ,		0.		
3 Excess distributions carryover, if any, to 2010:	Ì			
a From 2005 118,656.				
b From 2006 79,832.				
c From 2007 45,918.				
d From 2008 78,688. e From 2009 146,322.				
	469,416.			
f Total of lines 3a through e	409,410.			
4 Qualifying distributions for 2010 from Part XII, line 4: ► \$ 132,750.				
a Applied to 2009, but not more than line 2a			0.	
b Applied to undistributed income of prior			<u></u>	
years (Election required - see instructions)		0.		
c Treated as distributions out of corpus		•		
(Election required - see instructions)	0.			
d Applied to 2010 distributable amount		· · · · ·		54,495.
e Remaining amount distributed out of corpus	78,255.			31/1551
5 Excess distributions carryover applied to 2010	0.			0.
(If an amount appears in column (d), the same amount must be shown in column (a))				- -
6 Enter the net total of each column as indicated below:				
a Corpus Add lines 3f, 4c, and 4e Subtract line 5	547,671.			
b Prior years' undistributed income. Subtract				
line 4b from line 2b		0.		
c Enter the amount of prior years' undistributed income for which a notice of deficiency has been issued, or on which the section 4942(a) tax has been previously assessed		0.		
d Subtract line 6c from line 6b. Taxable				
amount - see instructions		0.		
e Undistributed income for 2009. Subtract line				
4a from line 2a. Taxable amount - see instr.			0.	
f Undistributed income for 2010. Subtract	i			
lines 4d and 5 from line 1. This amount must				_
be distributed in 2011				0.
7 Amounts treated as distributions out of				
corpus to satisfy requirements imposed by				
section 170(b)(1)(F) or 4942(g)(3)	0.			
8 Excess distributions carryover from 2005	110 656			
not applied on line 5 or line 7	118,656.			
9 Excess distributions carryover to 2011	420 015			
Subtract lines 7 and 8 from line 6a	429,015.			
10 Analysis of line 9:				
a Excess from 2006 79,832. b Excess from 2007 45,918.				
c Excess from 2008 78,688. d Excess from 2009 146,322.				
e Excess from 201078, 255.				
				Form 990-PF (2010)

C/O MANN GELON GLODNEY & AUGENSTEIN

95-4769888 Page 11

Grants and Contributions Paid During the	fear or Approved for Future	Payment		
Recipient	If recipient is an individual,		Durnage of great or	
Name and address (home or business)	If recipient is an individual, show any relationship to any foundation manager or substantial contributor	Foundation status of recipient	Purpose of grant or contribution	Amount
a Paid duning the year				
	1			
	i			
	1			
SEE STATEMENT 10				
Total		<u> </u>	► 3a	132,7
Approved for future payment			1	
			<u> </u>	
NONE				
Total			▶ 3b	

Form 990-PF (2010) Part XVI-A **Analysis of Income-Producing Activities**

Enter gross amounts unless otherwise indicated.	Unrelate	d business income		ded by section 512, 513, or 514	(e)
1 Program service revenue:	(a) Business code	(b) Amount	(C) Exclu- sion code	(d) Amount	Related or exempt function income
a				<u> </u>	
b					
c	I				
d	1				
e					
1					
g Fees and contracts from government agencies					
2 Membership dues and assessments					
3 Interest on savings and temporary cash			+ +		
investments			14	<651.	
4 Dividends and interest from securities			$\frac{1}{14}$	6,890.	
5 Net rental income or (loss) from real estate:			+	0,030.	
a Debt-financed property			+ +		
b Not debt-financed property			+ +		·
			-	 	
6 Net rental income or (loss) from personal					
property			1 1		
7 Other investment income			1		
8 Gain or (loss) from sales of assets other				0.000	
than inventory			18	<9,069.	<u> </u>
9 Net income or (loss) from special events			\perp		
10 Gross profit or (loss) from sales of inventory					
11 Other revenue:			1 1		
a			1 1		
b				 	
c			1		
d		<u>-</u>			
e					
12 Subtotal. Add columns (b), (d), and (e)		0		<u><2,830.</u>	<u>0.</u>
13 Total. Add line 12, columns (b), (d), and (e)				13	<2,830.>
(See worksheet in line 13 instructions to verify calculations.)					
Part XVI-B Relationship of Activities t	to the Acco	mplishment of E	xemp	t Purposes	_
Line No Explain below how each activity for which inco			A contrib	uted importantly to the accor	nplishment of
the foundation's exempt purposes (other than	by providing far	ius ioi sucii purposes).			
				···	·
					
			-		

Form 990-PF (2010) C/O MANN GELON GLODNEY & AUGENSTEIN 95-4769888 Page 13 Part XVII Information Regarding Transfers To and Transactions and Relationships With Noncharitable **Exempt Organizations** Yes No Did the organization directly or indirectly engage in any of the following with any other organization described in section 501(c) of the Code (other than section 501(c)(3) organizations) or in section 527, relating to political organizations? a Transfers from the reporting foundation to a noncharitable exempt organization of: X (1) Cash 1a(1) X (2) Other assets 1a(2) **b** Other transactions: (1) Sales of assets to a noncharitable exempt organization 1b(1) (2) Purchases of assets from a noncharitable exempt organization 1b(2) X (3) Rental of facilities, equipment, or other assets 1b(3) (4) Reimbursement arrangements 1b(4) X (5) Loans or loan guarantees 1b(5) X (6) Performance of services or membership or fundraising solicitations 1b(6) c Sharing of facilities, equipment, mailing lists, other assets, or paid employees If the answer to any of the above is "Yes," complete the following schedule. Column (b) should always show the fair market value of the goods, other assets, or services given by the reporting foundation. If the foundation received less than fair market value in any transaction or sharing arrangement, show in column (d) the value of the goods, other assets, or services received. (b) Amount involved (c) Name of noncharitable exempt organization (d) Description of transfers, transactions, and sharing arrangements N/A 2a Is the foundation directly or indirectly affiliated with, or related to, one or more tax-exempt organizations described X No Yes in section 501(c) of the Code (other than section 501(c)(3)) or in section 527? b If "Yes," complete the following schedule. (a) Name of organization (b) Type of organization (c) Description of relationship N/A ements, and to the best of my knowledge and belief, it is true, correct, Sign **DIRECTOR & PRESIDENT** Here Signature of officer or trustee Check _____ if PTIN Print/Type preparer's name Preparer's signature Date self- employed Paid STEVEN GELON Preparer GELON, GLODNEY & AUGENSTEIN, Firm's name ► MANN, APC Firm's EIN **Use Only**

Form **990-PF** (2010)

310-277-3633

Firm's address ► 1880 CENTURY PARK EAST, SUITE 950

LOS ANGELES, CA 90067

Phone no.

Schedule B (Form 990, 990-EZ, or 990-PF)

Department of the Treasury Internal Revenue Service

Name of the organization

Schedule of Contributors

➤ Attach to Form 990, 990-EZ, or 990-PF.

OMB No 1545-0047

2010

Employer identification number

DHARMA-GRACE FOUNDATION C/O MANN GELON GLODNEY & AUGENSTEIN 95-4769888 Organization type (check one): Filers of: Section: 501(c)(Form 990 or 990-EZ) (enter number) organization 4947(a)(1) nonexempt charitable trust not treated as a private foundation 527 political organization Form 990-PF X 501(c)(3) exempt private foundation 4947(a)(1) nonexempt charitable trust treated as a private foundation 501(c)(3) taxable private foundation Check if your organization is covered by the General Rule or a Special Rule. Note. Only a section 501(c)(7), (8), or (10) organization can check boxes for both the General Rule and a Special Rule. See instructions **General Rule** For an organization filing Form 990, 990-EZ, or 990-PF that received, during the year, \$5,000 or more (in money or property) from any one contributor. Complete Parts I and II

Special Rules

Jeciai	nules
	For a section 501(c)(3) organization filing Form 990 or 990-EZ that met the 33 1/3% support test of the regulations under sections 509(a)(1) and 170(b)(1)(A)(vi), and received from any one contributor, during the year, a contribution of the greater of (1) \$5,000 or (2) 2% of the amount on (i) Form 990, Part VIII, line 1h or (ii) Form 990-EZ, line 1 Complete Parts I and II
	For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, aggregate contributions of more than \$1,000 for use exclusively for religious, charitable, scientific, literary, or educational purposes, or the prevention of cruelty to children or animals. Complete Parts I, II, and III.
	For a section 501(c)(7), (8), or (10) organization filing Form 990 or 990-EZ that received from any one contributor, during the year, contributions for use <i>exclusively</i> for religious, charitable, etc., purposes, but these contributions did not aggregate to more than \$1,000. If this box is checked, enter here the total contributions that were received during the year for an <i>exclusively</i> religious, charitable, etc., purpose Do not complete any of the parts unless the General Rule applies to this organization because it received nonexclusively religious, charitable, etc., contributions of \$5,000 or more during the year

Caution. An organization that is not covered by the General Rule and/or the Special Rules does not file Schedule B (Form 990, 990-EZ, or 990-PF), but it must answer "No" on Part IV, line 2 of its Form 990, or check the box on line H of its Form 990-EZ, or on line 2 of its Form 990-PF, to certify that it does not meet the filing requirements of Schedule B (Form 990, 990-EZ, or 990-PF).

LHA For Paperwork Reduction Act Notice, see the Instructions for Form 990, 990-EZ, or 990-PF. Schedule B (Form 990, 990-EZ, or 990-PF) (2010)

Name of organization

DHARMA-GRACE FOUNDATION

Employer identification number

<u>C/O M</u>	ANN GELON GLODNEY & AUGENSTEIN		<u>-4769888</u>
Part I	Contributors (see instructions)		
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
1	CHARLES LORRE 1880 CENTURY PARK EAST #950 LOS ANGELES, CA 90067	\$\$\$	Person X Payroll
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution.)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)
(a) No.	(b) Name, address, and ZIP + 4	(c) Aggregate contributions	(d) Type of contribution
		\$	Person Payroll Noncash (Complete Part II if there is a noncash contribution)

Name of organization

DHARMA-GRACE FOUNDATION

C/O MANN GELON GLODNEY & AUGENSTEIN

95-4769888

Employer identification number

Part II	Noncash Property (see instructions)		
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		 \$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		\$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		 \$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		 \$	
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
(a) No. from Part I	(b) Description of noncash property given	(c) FMV (or estimate) (see instructions)	(d) Date received
		 \$	90, 990-EZ, or 990-PF) (20

of Part III

Name of org	anization		Employer identification number
	A-GRACE FOUNDATION		
C/O M/	ANN GELON GLODNEY & AUGI	ENSTEIN	95-4769888
Part III	more than \$1,000 for the year. Complete Part III, enter the total of exclusively religion \$1,000 or less for the year. (Enter this info	columns (a) through (e) and the us, charitable, etc., contribution	on 501(c)(7), (8), or (10) organizations aggregating e following line entry. For organizations completing s of
(a) No. from Part i	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gif	ft
	Transferee's name, address, an	d ZIP + 4	Relationship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
-		(e) Transfer of gif	ft
	Transferee's name, address, an	d ZIP + 4	Relationship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
	l	(e) Transfer of git	nt .
<u> </u>	Transferee's name, address, an	d ZIP + 4	Relationship of transferor to transferee
(a) No. from Part I	(b) Purpose of gift	(c) Use of gift	(d) Description of how gift is held
		(e) Transfer of gif	ft
	Transferee's name, address, an	d ZIP + 4	Relationship of transferor to transferee

,	· · · · · · · · · · · · · · · · · · ·					
FORM 990-PF INTEREST ON SAVI	NGS AND TE	MPORARY CA	ASH IN	VESTMENTS	STATEMENT	1
SOURCE					AMOUNT	
GOLDMAN, SACHS & CO LESS BOND PREMIUM AMORTIZATIO	DN				2,6	
TOTAL TO FORM 990-PF, PART I,	LINE 3, Co	OLUMN A			<6	51.
FORM 990-PF DIVIDENT	S AND INTE	REST FROM	SECUE	RITIES	STATEMENT	2
SOURCE	GROS	S AMOUNT		ITAL GAINS IVIDENDS	COLUMN (A AMOUNT)
GOLDMAN, SACHS & CO		6,890.		0.	6,8	90.
TOTAL TO FM 990-PF, PART I, I	ın 4	6,890.		0.	6,8	90.
FORM 990-PF	ACCOUNT	ING FEES			STATEMENT	3
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVI MENT INC		(C) ADJUSTED NET INCOM		
ACCOUNTING FEES	2,075	. 2	,075.			0.
TO FORM 990-PF, PG 1, LN 16B	2,075	. 2	,075.			0.
FORM 990-PF	TA	XES			STATEMENT	4
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVI MENT IN		(C) ADJUSTED NET INCOM		
FOREIGN TAX STATE FILING FEE	92 25		92. 25.			0.
TO FORM 990-PF, PG 1, LN 18	117	•	117.			0.
=						

FORM 990-PF	OTHER E	XPENSES		STATEMENT	5
DESCRIPTION	(A) EXPENSES PER BOOKS	(B) NET INVE MENT INC			
INVESTMENT ADVISORY FEES	2,168.	2,	168.		0.
TO FORM 990-PF, PG 1, LN 23	2,168.	2,	168.		0.
FORM 990-PF U.S. AND S	STATE/CITY G	OVERNMENT	OBLIGATIONS	STATEMENT	6
DESCRIPTION	U.S GOV'		BOOK VALUE	FAIR MARKET VALUE	?
GOLDMAN SACHS - VARIOUS	<u> </u>		323,577.	345,76	· 0 ·
TOTAL U.S. GOVERNMENT OBLIGAT	TIONS	-	323,577.	345,76	0.
TOTAL STATE AND MUNICIPAL GOV	VERNMENT OBL	- IGATIONS			
TOTAL TO FORM 990-PF, PART II	, LINE 10A	=	323,577.	345,76	0.
FORM 990-PF	CORPORAT	E STOCK		STATEMENT	7
DESCRIPTION			BOOK VALUE	FAIR MARKET VALUE	?
GOLDMAN SACHS - VARIOUS		-	527,628.	482,66	8.
TOTAL TO FORM 990-PF, PART II	I, LINE 10B	=	527,628.	482,66	8.
FORM 990-PF	CORPORAT	E BONDS		STATEMENT	8
DESCRIPTION			BOOK VALUE	FAIR MARKET VALUE	נ
GOLDMAN SACHS - VARIOUS		-	46,207.	44,91	7.

Dharma-Grace Foundation

Form 990-PF Return of Private Foundation E I N. 95-4769888

Schedule of Investments as of August 31, 2011

Description	Book Value	Fair Market Value
U.S. Government Obligations (FHLMC/FNMA)		
Goldman Sach #xx826-6 - statement attached	323,577	345,760
Other Fixed Income Investments:		
Goldman Sach #xx826-6 - statement attached	46,207	44,917
subtotal	369,784	390,677
Corporate Stock and Other Equities		
Goldman Sach #xx815-9 - statement attached	154,811	151,313
Goldman Sach #xx826-6 - statement attached	215,717	193,852
Goldman Sach #xx827-4 - statement attached	157,100	137,503
subtotal	527,628	482,668
Total Investments	897,412_	873,345

FORM 990-PF PART VIII - LIST TRUSTEES AND	OF OFFICERS, DEFOUNDATION MANAGE		STATI	EMENT 9
NAME AND ADDRESS	TITLE AND AVRG HRS/WK		EMPLOYEE BEN PLAN CONTRIB	EXPENSE
CHARLES LORRE 1880 CENTURY PARK EAST #950 LOS ANGELES, CA 90067	DIRECTOR & PRE	SIDENT 0.	0.	0.
LAWRENCE CHERKIS 1880 CENTURY PARK EAST #950 LOS ANGELES, CA 90067	DIRECTOR 1.00	0.	0.	0.
JOAN CHERKIS 1880 CENTURY PARK EAST #950 LOS ANGELES, CA 90067	DIRECTOR 1.00	0.	0.	0.
WILLIAM PRADY 1880 CENTURY PARK EAST #950 LOS ANGELES, CA 90067	DIRECTOR 1.00	0.	0.	0.
NORMAN KURLAND 1880 CENTURY PARK EAST #950 LOS ANGELES, CA 90067	DIRECTOR 1.00	0.	0.	0.
STEVEN GELON 1880 CENTURY PARK EAST #950 LOS ANGELES, CA 90067	SECRETARY/CFO 1.00	0.	0.	0.
TOTALS INCLUDED ON 990-PF, PAGE 6,	PART VIII	0.	0.	0.

FORM 990-PF

STATEMENT

RECIPIENT NAME AND ADDRESS	RECIPIENT RELATIONSHIP AND PURPOSE OF GRANT		AMOUNT
ALZHEIMER'S ASSOCIATION 225 N. MICHIGAN AVE, FL 17 CHICAGO, IL 60601-7633	NONE GENERAL FUND	PUBLIC CHARITY	2,000.
AUTISM SPEAKS 1 EAST 33RD STREET, 4TH FLOOR NEW YORK, NY 10016	NONE GENERAL FUND	PUBLIC CHARITY	1,000.
CHILDRENS HOSPITAL OF LOS ANGELES 4650 SUNSET BLVD. LOS ANGELES, CA 90027	NONE GENERAL FUND	PUBLIC CHARITY	2,500.
CLARE FOUNDATION 909 PICO BOULEVARD SANTA MONICA, CA 90405	NONE GENERAL FUND	PUBLIC CHARITY	25,000.
GOOD SHEPARD SHELTER GUILD 2561 VENICE BOULEVARD LOS ANGELES, CA 90019	NONE GENERAL FUND	PUBLIC CHARITY	1,000.
JEWISH FAMILY SERVICES OF LOS ANGELES 3580 WILSHIRE BOULEVARD, SUITE 700 LOS ANGELES, CA 90010	NONE GENERAL FUND	PUBLIC CHARITY	10,000.
JEWISH FEDERATION OF GREATER LOS ANGELES 6505 WILSHIRE BOULEVARD, SUITE 800 LOS ANGELES, CA 90048	NONE GENERAL FUND	PUBLIC CHARITY	1,250.
MOTION PICTURE & TELEVISION FUND 23388 MULHOLLAND DRIVE, SABAN BUILDING 220 WOODLAND HILLS, CA 91364	NONE GENERAL FUND	PUBLIC CHARITY	5,000.

GRANTS AND CONTRIBUTIONS

PAID DURING THE YEAR

▼ DHARMA-GRACE FOUNDATION C/O MAN	N GELON C	3		95-4769888
DOWN SYNDROME ASSOCIATION OF LOS ANGELES 16461 SHERMAN WAY, SUITE 180 VAN NUYS, CA 91406	NONE GENERAL	- FUND	PUBLIC CHARITY	5,000.
UNICEF 125 MAIDEN LANE NEW YORK, NY 10038	NONE GENERAL	FUND	PUBLIC CHARITY	5,000.
VENICE FAMILY CLINIC 604 ROSE AVENUE VENICE, CA 90291	NONE GENERAL	FUND	PUBLIC CHARITY	75,000.
TOTAL TO FORM 990-PF, PART XV, LI	NE 3A			132,750.

DHARMA GRACE FDN.- DSM: LCG Holdings

Period Ended August 31, 2011

_
F
5
ᇤ
2
ᆿ
9
\Rightarrow

USE EQUITY CONDIANA SACHS BANK DEPOSIT (BDAILDANDWIY CAÇA 2.855.27 1.0000 2.855.27 I.0000 I.0000 2.855.27 I.0000 I.0000 2.855.27 I.0000 I.0000 2.855.28 I.0000 2.855.20 I.0000			į		Market Value /		Adjusted Cost /		Yield to Maturity /	Estimated
K DEFOST (BDANOW)** C ASS.27 1,0000 2,685.27 1,0000 2,685.27 Unrealised Dimension MM/I 0.0000 (MI) 72,000 87.9400 39.0400 2,683.28 (B64.02) SMI 62,000 81.8100 5,974.86 92.2025 6,683.83 (B64.02) SMI 62,000 81.8100 5,974.86 4,504.91 567.31 SMI 62,000 81.8100 5,17.22 7,585.99 4,504.91 567.31 SMI 100,000 81.8100 5,17.22 7,585.99 4,504.91 567.31 JANI (ESH) 82.00 81.8100 6,111.00 89.62.80 10,134 10,240 JANI (ESH) 80.00 81.1100 6,111.00 89.156.9 4,546.9 917.34 JANI (ESH) 80.00 81.1100 6,111.00 89.156.9 4,546.9 10.11.159 JANI (ESH) 80.00 81.1100 81.1100 80.156.9 4,546.9 11.11.59 ALIONS, INC, CANI (ESH) 80.00 81.1100		a	antity	Market Price	Accrued Income	Unit Cost	Original Cost	Gain (Loss)	Current Yield	Annual Income
K DEPOSIT (BDAIL*BDANDW)** C. A.4.A. 2,656.27 1 0000 2,656.27 1 0000 2,656.27 Inmented MAMI Race Boals Accented Inscine Accented Inscine Accented Inscine Accented Inscine Accented Inscined A	US EQUITY									
C ASIA 1,0000 2,655.27 1,0000 2,655.27 Unrealized Cumerity Market Pelies Lincented Income 1,0000 2,655.27 Unrealized Cumerity Market Pelies Unrealized Cumerity Market Pelies Unrealized Cumerity Market Pelies Unrealized Cumerity Corr Bessis Gall (Less) Gall (Less) Corr Bessis Gall (Less) Corr Bessis Gall (Less) Gall (Less) Gall (Less) Gall (Less) Gall (Less) Gall (Less) <	DSM: LARGE CAP GROWTH							;		
Control Cont	ļ		55.27	1.0000	2,655.27	1.0000	2,655.27		0.1358	3.61
Conversion Con	l				Market Value /			Unrealized	Dividend	Estimated
72,00 82,3800 5,974.56 92,2025 6,638.58 (664,02) 39,00 39,00 39,00 4,00		_	wantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annosi income
100 11 100 11 100 11 100 11 100 10	3M COMPANY CMN (MMM)		72.00	82.9800	5,974.56	92.2025	6,638.58	(664.02)	2.6512	158.40
Section Sect					39.60					
3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.10 3.11 3.10 3.11 3.10 3.11 3.10 3.11 3.10 3.11 3.10 3.11 3.10 3.11 3.10 3.11 3.10 3.11 3.10 3.11 3.10 3.11	ALLERGAN INC CMN (AGN)		62.00	81.8100	5,072.22	72.6599	4,504.91	567.31	0.2445	12.40
31.00 384 8300 11,329.73 355.2384 11,012.39 917.34 100.00 61.1100 69.0584 6,905.84 (794.84) 140.00 59.4700 6.111.00 69.0584 6,905.84 (794.84) 140.00 59.4700 6.23.137 5,545.92 101.13 883.73 159.00 42.2800 6,722.52 42.9828 6,834.27 101.13 145.00 36.6000 5,307.00 32.7903 4,754.60 552.40 137.00 45.5000 5,307.00 32.7903 4,754.60 552.40 42.00 81.5700 3,455.94 116.1381 4,877.80 (1447.01) 42.00 81.5700 3,455.94 116.1381 4,877.80 (1447.01) 5.00 119.9200 3,117.92 126.9804 3,301.49 (183.57) 5.00 540.9600 2,704.80 593.1560 2,955.78 (1647.01) 5.00 540.9600 2,704.80 593.65.79 4,771.47 (1,404.27) <td< td=""><td></td><td></td><td></td><td></td><td>3.10</td><td></td><td></td><td></td><td></td><td></td></td<>					3.10					
100.00 61.1100 6.111.00 6.0584 6.905.84 (794.84) 140.00 59.4700 8.325.80 53.1576 7.442.07 883.73 140.00 59.4700 8.325.80 53.1576 7.442.07 883.73 159.00 42.2800 6.722.52 42.828 6.824.27 (111.75) 145.00 36.6000 5.307.00 32.7903 4.754.80 552.40 137.00 45.5000 6.233.50 52.1387 7.143.00 (11.451.86) 26.00 113.9200 3.425.94 116.1381 4.877.80 (11.451.86) 26.00 115.9200 3.117.92 126.9804 3.301.49 (11.451.86) 330.00 16.3100 5.382.30 20.6949 6.825.36 (1.447.01) 5.00 540.9600 2.704.80 533.1560 2.965.78 (1.447.01) 6.00 18.3000 3.367.20 25.8319 4.771.47 (1.404.27) 102.00 37.6200 3.742.62 98.837 5.524.24 (1.687.00)	APPLE, INC. CMN (AAPL)		31.00	384.8300	11,929.73	355.2384	11,012.39	917.34		
140.00 59,4700 8,225.80 53.1576 7,442.07 883.73 140.00 63,4500 5,647.05 62.3137 5,545.92 101.13 159.00 42,2800 6,722.52 42.9828 6,834.27 (111.75) 145.00 36,6000 5,307.00 32.7903 4,754.60 552.40 137.00 45,5000 6,233.50 52.1387 7,143.00 100.50 26.00 119,9200 3,117.92 126.9804 3,301.49 (1451.86) 26.00 119,9200 3,117.92 126.9804 3,301.49 (1451.86) 5.00 540,9500 2,704.80 533.1560 2,965.78 (1447.01) 5.00 540,9500 2,704.80 533.1560 4,027.44 548.76 12.00 381,3500 2,704.80 533.1560 4,771.47 (1,404.27) 102.00 37,6200 3,367.20 25,8319 4,771.47 (1,404.27) 102.00 86,6500 4,765.75 82,3513 4,771.47 (1,404.27)	BAKER HUGHES INC CMN (BHI)		00.00	61.1100	6,111.00	69.0584	6,905.84	(794.84)	0.9818	60.00
159.00 63.4500 5,647.05 62.3137 5,545.92 101.13 159.00 42.2800 6,725.52 42.9828 6,834.27 (111.75) 145.00 36.6000 5,307.00 32.7903 4,754.60 552.40 137.00 45.5000 6,233.50 52.1387 7,143.00 (1909.50) 26.00 119,2000 3,117.92 126.3804 3,301.49 (1,451.86) 26.00 119,2000 3,117.92 126.9804 3,301.49 (1,451.86) 26.00 119,2000 3,117.92 126.9804 3,301.49 (1,451.86) 5.00 5,40.9600 2,704.80 593.1560 2,285.78 (1,447.01) 12.00 381.3500 4,576.20 335.620 4,027.44 548.76 184.00 18.3000 3,367.20 25.9319 4,771.47 (1,404.27) 55.00 86.6500 4,765.75 82.3513 4,771.47 (1,404.27) 10.00 537.2600 4,765.75 82.3520 4,771.47 (1,404	CELGENE CORPORATION CMN (CELG)		40.00	59.4700	8,325.80	53.1576	7,442.07	883.73		
159.00 42.2800 6,722.52 42.9828 6,834.27 (111.75) 145.00 36.6000 5,307.00 32.7903 4,754.60 552.40 137.00 45.5000 6,233.50 52.1387 7,143.00 (1095.0) 42.00 81.5700 3,425.94 116.1381 4,877.80 (1,451.86) 26.00 119,9200 3,117.92 126.9894 3,301.49 (1,451.86) 330.00 16,3100 5,382.30 20.6849 6,829.31 (1,447.01) 5.00 540.9600 2,704.80 593.1560 2,965.78 (160.38) 12.00 381.3500 4,576.20 335.5200 4,027.44 548.76 12.00 381.3500 4,576.20 25.3319 4,771.47 (1,404.27) 12.00 37.6200 3,367.20 25.3319 4,771.47 (1,404.27) 55.00 86.6500 4,765.75 82.3513 4,529.32 236.43 43.00 537.260 5,372.60 4,532.01 4,532.01 4,532.01 <td>COGNIZANT TECHNOLOGY SOLUTIONS CORP CLASS A (CTSH)</td> <td></td> <td>89.00</td> <td>63.4500</td> <td>5,647.05</td> <td>62.3137</td> <td>5,545.92</td> <td>101.13</td> <td></td> <td></td>	COGNIZANT TECHNOLOGY SOLUTIONS CORP CLASS A (CTSH)		89.00	63.4500	5,647.05	62.3137	5,545.92	101.13		
145.00 36.6000 5.307.00 32.7903 4,754.60 552.40 137.00 45.5000 6,233.50 52.1387 7,143.00 (909.50) 42.00 81.5700 3,425.94 116.1381 4,877.80 (1,451.86) 26.00 119.9200 3,117.92 126.9804 3,301.49 (1,447.01) 330.00 16.3100 5,382.30 20.6949 6,829.31 (1,447.01) 5.00 540.9600 2,704.80 593.1560 2,965.78 (160.98) 12.00 381.3500 4,576.20 335.6200 4,027.44 548.76 18.400 18.3000 3,367.20 25.9319 4,771.47 (1,404.27) 102.00 37.6200 4,756.75 84.1592 5,524.24 (1,687.00) 55.00 86.6500 4,765.75 82.3513 4,529.32 236.43 55.00 86.8500 4,765.75 89.8947 3,796.00 (1,876.9) 43.00 537.2600 5,372.60 453.201 4,532.01 (1,576.33)<	DISCOVERY COMMUNICATIONS, INC. CMN SERIES A (DISCA)		59.00	42.2800	6,722.52	42.9828	6,834.27	(111.75)		
XPD) 137,00 45,500 6,233.50 52,1387 7,143,00 (1,451,86) N) 26,00 119,9200 3,117,92 126,9804 3,301,49 (1,451,86) N) 26,00 119,9200 3,117,92 126,9804 3,301,49 (1,447,01) S,00 5,00 16,3100 5,382,30 20,6949 6,829,31 (1,447,01) S,00 5,40,9600 2,704,80 593,1560 2,965,78 (1,447,01) S,00 5,40,9600 2,704,80 593,1560 4,277,44 548,76 S,00 18,300 3,367,20 25,9319 4,771,47 (1,404,27) S,00 102,00 37,620 3,837,24 54,1592 5,524,24 (1,687,00) S,50 86,6500 4,765,75 82,3513 4,771,47 (1,404,27) S,50 86,6500 4,765,75 82,3513 4,529,32 236,43 S,50 86,6500 5,372,60 4,532,01 4,532,01 840,59 S,00 86,6500	DOLLAR GENERAL CORPORATION CMN (DG)		45.00	36.6000	5,307.00	32.7903	4,754.60	552.40		
NJ 42.00 81.5700 3,425.94 116.1881 4,877.80 (1,451.86) NJ 26.00 119.9200 3,117.92 126.9804 3,301.49 (1,447.01) S.00 16.3100 5,382.30 20.6849 6,829.31 (1,447.01) S.00 540.9600 2,704.80 593.1560 2,965.78 (260.98) S.00 361.3500 4,576.20 335.6200 4,027.44 548.76 R.00 18,3000 3,367.20 25.3319 4,771.47 (1,404.27) R.00 18,3000 3,367.20 25.3319 4,771.47 (1,404.27) R.00 37,6200 3,837.24 54,1592 5,524.24 (1,687.00) R.00 98,4900 3,742.62 99,8947 3,796.00 4532.01 R.00 537.2600 5,372.60 4,532.01 4,532.01 840.59 R.00 78,1200 7,499.52 91,415 8,775.85 (1,776.33)	EXPEDITORS INTL WASH INC CMN (EXPD)		37.00	45.5000	6,233.50	52.1387	7,143.00	(909.50)	1.0989	68.50
NJ 26.00 119.9200 3.117.92 126.984 3.301.49 (183.57) 5.00 5.382.30 20.6949 6.829.31 (1.447.01) 6) 5.00 540.9600 2,704.80 593.1560 2,965.78 (260.98) 6) 12.00 381.3500 4,576.20 335.6200 4,027.44 548.76 18,00 18,300 3,367.20 25.9319 4,771.47 (1,404.27) 18,200 37,620 3,367.20 25.9319 4,771.47 (1,404.27) 102.00 37,6200 3,837.24 54.1592 5,524.24 (1,687.00) 102.00 37,6200 4,765.75 82.3513 4,529.32 236.43 10,00 537.2600 5,372.60 453.201 4,532.01 840.59 43.00 7,81200 7,499.52 91.4151 8,775.85 (1,276.33)	F5 NETWORKS INC CMN (FFIV)		42.00	81.5700	3,425.94	116.1381	4,877.80	(1,451.86)		
330.00 16.3100 5,382.30 20.6949 6,829.31 (1,447.01) G) 5.00 540.9600 2,704.80 593.1560 2,365.78 (260.98) G) 12.00 381.3500 4,576.20 335.6200 4,027.44 548.76 18.300 18.300 3,367.20 25.3319 4,771.47 (1,404.27) 102.00 37.6200 3,837.24 54.1592 5,524.24 (1,687.00) 55.00 86.6500 4,765.75 82.3513 4,529.32 236.43 10.00 537.2600 5,372.60 4,532.01 840.59 (1,587.03) 43.00 48.8900 2,102.27 58.557 2,517.96 (1,276.33) 96.00 78.1200 7,499.52 91.4151 8,775.85 (1,276.33)	FRANKLIN RESOURCES INC CMN (BEN)		26.00	119.9200	3,117.92	126.9804	3,301.49	(183.57)	0.8339	26.00
G) 5.00 540.9600 2,704.80 593.1560 2,965.78 (260.98) G) 12.00 381.3500 4,576.20 335.6200 4,027.44 548.76 184.00 18.3000 3,367.20 25.9319 4,771.47 (1,404.27) 22.54 102.00 37.6200 3,837.24 54.1592 5,524.24 (1,687.00) 55.00 86.6500 4,765.75 82.3513 4,529.32 236.43 10.00 58,4900 3,742.62 99.8947 3,796.00 (53.38) 43.00 48,8900 2,102.27 58.5572 2,517.96 (415.69) 96.00 78,1200 7,499.52 91.4151 8,775.85 (1,276.33)	GENERAL ELECTRIC CO CMN (GE)		30.00	16.3100	5,382.30	20.6949	6,829.31	(1,447.01)	3.6787	198.00
RG) 12,00 381,3500 4,576,20 335,6200 4,027,44 548,76 184,00 18,300 3,367,20 25,9319 4,771,47 (1,404,27) 22,54 102,00 37,6200 3,837,24 54,1592 5,524,24 (1,687,00) 102,00 37,6200 4,765,75 82,3513 4,529,32 236,43 102,00 98,4900 3,742,62 99,8947 3,796,00 (53.38) 10,00 537,2600 5,372,60 453,201 4,529,32 251,38 43,00 48,8900 2,102,27 58,557 2,517,36 (11,569) 96,00 78,1200 7,499,52 91,4151 8,775,85 (1,276,33)	GOOGLE, INC. CMN CLASS A (GOOG)		5.00	540.9600	2,704.80	593.1560	2,965.78	(260.98)		
184,00 18,3000 3,367,20 25,9319 4,771,47 (1,404,27) 22,54 102.00 37,6200 3,837,24 54,1592 5,524,24 (1,687,00) 55,00 86,6500 4,765,75 82,3513 4,529,32 236,43 10,00 537,2600 3,742,62 99,8947 3,796,00 (53.38) 43,00 48,8900 2,102,27 58,5272 2,517,36 (415,69) 96,00 78,1200 7,499,52 91,4151 8,775,85 (1,276,33)	INTUITIVE SURGICAL, INC. CMN (ISRG)		12.00	381.3500	4,576.20	335.6200	4,027.44	548.76		i i
22.54 22.54 (1,687.00) 102.00 37.5200 3,837.24 54.1592 5,524.24 (1,687.00) 55.00 86.6500 4,765.75 82.3513 4,529.32 236.43 38.00 98.4900 3,742.62 99.8947 3,796.00 (53.38) 43.00 537.2600 5,372.60 453.2010 4,532.01 840.59 43.00 78.1200 7,499.52 91.4151 8,775.85 (1,276.33) 24.00 24.00	INVESCO LTD. CMN (IVZ)		84.00	18.3000	3,367.20	25.9319	4,771.47	(1,404.27)	2.6776	90.16
102.00 37.6200 3.837.24 54.1592 5,524.24 (1,687.00) 55.00 86.6500 4,765.75 82.3513 4,529.32 236.43 38.00 98.4900 3.742.62 99.8947 3,796.00 (53.38) 10.00 537.2600 5,372.60 453.2010 4,532.01 840.59 43.00 78.1200 7,499.52 91.4151 8,775.85 (1,276.33) 24.00 24.00 24.00 24.00 1,276.33	!			•	22.54				į	,
55.00 86.5500 4,765.75 82.3513 4,529.32 236.43 38.00 98.4900 3,742.62 99.8947 3,796.00 (53.38) 10.00 537.2600 5,372.60 453.2010 4,532.01 840.59 43.00 48.8900 2,102.27 58.5572 2,517.96 (415.69) 96.00 78.1200 7,499.52 91.4151 8,775.85 (1,276.33) 24.00 24.00	NETAPP, INC. CMN (NTAP)		05.00	37.6200	3,837.24	54.1592	5,524.24	(1,687.00)		
38.00 98.4900 3.742.62 99.8947 3.795.00 (53.38) 10.00 5.372.60 4532.01 4.532.01 840.59 43.00 48.8900 2.102.27 58.5572 2.517.96 (415.69) 96.00 78.1200 7.499.52 91.4151 8.775.85 (1,276.33) 24.00 24.00	NIKE CLASS-B CMN CLASS B (NKE)	; ;	55.00	86.6500	4,765.75	82.3513	4,529.32	236.43	1.4310	68.20
10.00 537.2600 5,372.60 4532.01 4532.01 840.59 43.00 48.8900 2,102.27 58.5572 2,517.96 (415.69) 96.00 78.1200 7,499.52 91.4151 8,775.85 (1,276.33) 24.00	PRAXAIR, INC CMN SERIES (PX)		38.00	98.4900	3,742.62	99.8947	3,796.00	(53.38)	2.0307	76.00
43.00 48.8900 2,102.27 58.5572 2,517.96 (415.69) 96.00 78.1200 7,499.52 91.4151 8,775.85 (1,276.33) 24.00 24.00	PRICELINE.COM INC CMN (PCLN)		10.00	537.2600	5,372.60	453.2010	4,532.01	840.59		
96.00 78.1200 7,499.52 91.4151 8,775.85 (1,276.33) 24.00	ROVI CORPORATION CMN (ROVI)		43.00	48.8900	2,102.27	58.5572	2,517.96	(415.69)		
24.00	SCHLUMBERGER LTD CMN (SLB)		96.00	78.1200	7,499.52	91.4151	8,775.85	(1,276.33)	1.2801	96.00
					24.00					

This represents a bank deposit of an affiliated bank reflected here for your convenience and is not cash held in your brokerage or custody account. Please see the enclosed Bank Statement page(s) for specific information related to your bank deposit. Not a Deposit. Not FDIC Insured. May Losa Value (Excluding Goldman, Sachs Bank Deposit Account, Term Deposit and Certificates of Deposit. Account offered by Goldman, Sachs Bank USA, Member FDIC.

Portfolio No. XXX-XXB15-9

Page 7 of 33



DHARMA GRACE FDN.- DSM: LCG Holdings (Continued)

Period Ended August 31, 2011

PUBLIC EQUITY (Continued)								
	Onentity	Market Price	Market Value / Accrued Income	Unit Cost	Cost Basis	Unrealized Gain (Loss)	Dividend Yield	Estimated Annual Income
US EQUITY								
DSM: LARGE CAP GROWTH								
STARBUCKS CORP. CMN (SBUX)	123.00	38.6200	4,750.26	35.6385	4,383.54	366.72	1.3465	63.96
VISA INC. CMN CLASS A (V)	90.00	87.8800	7,909.20	75.3430	6,780.87	1,128.33	0.6827	54.00
WPP PLC ADR CMN (WPPGY)	29.00	52.3700	3,089.83	65.8200	3,883.38	(793.55)	2.9695	91.75
YUM BRANDS, INC. CMN (YUM)	102.00	54.3700	5,545.74	50.8026	5,181.87	363.87	1.8392	102.00
NESTLE SA SPONSORED ADR (REP 1/20 CHF 10 REGD SHS) (NSRGY)	60.00	61.8890	3,713.34	54.3497	3,260.98	452.36	2.8545	106.00
SABMILLER PLC SPONSORED ADR (SBMRY)	101.00	36.3420	3,670.54	33.7247	3,406.19	264.35	2.1246	77.98
SHIRE LIMITED SPONSORED ADR CMN (SHPGY)	72.00	97.1000	6,991.20	83.0072	5,976.52	1,014.68	0.4118	28.79
TENCENT HOLDINGS LIMITED UNSPONSORED ADR CMN	182.00	23.7490	4,322.32	25.8667	4,707.74	(385.42)	0.2554	11.04
TOTAL DSM: LARGE CAP GROWTH			153,865.44		157,466.61	(3,601.17)	1.4830	1,392.79
			Market Value		Adjusted Cost /* Original Cost	Unrealized Gain (Loss)		Estimated Annual Income
TOTAL PORTFOLIO	i	: : :	153,958.18		157,466.61	(3,601.17)	!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!!	1,392.79
	Less Co	Cash	(2655.27)	<u>د</u> ۱	(2655.27)			
			151,312,9	 	154,811.34			

Page 8 of 33

⁶ Onginel Cost is price paid by purchaser adjusted for amuel original issue discount inclusions and/or return of capital adjustments. If applicable. Adjusted Cost reflects adjustments to Original Cost for market discount accretion and/or premium amortization. Adjusted cost for GMS Porticitos and Alternative Investments are determined by incaption to date contributions minus inception to date distributions.



DHARMA GRACE FDN.- ADV.

Holdings

Period Ended August 31, 2011

CASH, DEPOSITS & MONEY MARKET FUNDS								
	Quantity	Market Price	Market Value / Accrued Income	Unit Cost	Adjusted Cost / Original Cost	Vnrealized Gain (Loss)	Yield to Maturity / Current Yield	Estimated Annual Income
DEPOSITS & MONEY MARKET FUNDS								
DEPOSITS								
GOLDMAN SACHS BANK DEPOSIT (BDA)™	2,848.44	1.0000	2,848.44	1.0000	2,848.44	0.00	0.1288	3.67
FIXED INCOME								
	Quantity /		Market Value /		Adjusted Cost /	Unrealized	Yield to Maturity	Estimated
	Current Face	Market Price	Accrued Income	Unit Cost	Original Cost	Gain (Loss)	in Percentage	Annual Income
INVESTMENT GRADE FIXED INCOME								
GOVERNMENT AND GOVERNMENT AGENCY BONDS					:			
FHLMC MTN 4.125% 09/27/2013 MS S&P AA+ /Moody's Aaa	100,000.00	107.7300	107,730.00	105.7320	105,732.05	1,997.95	1.3132	4,125.00
			1,764.58	107.21	107,208.00	522.00 11		
FNMA 4.375000% 10/15/2015 AO S&P AA+ /Moody's Aaa	100,000.00	114.1270	114,127.00	107.6193	107,619.29	6,507.71	2.4218	4,375.00
			1,652.78	108.57	108,567.00	5,560.00 "		
FNMA 5.0% 05/11/2017 MN SR LIEN S&P AA+ /Moody's Aaa	100,000.00	118.9580	118,958.00	110.2253	110,225.28	8,732.72	3.0315	5,000.00
			1,527.78	111.11	111,109.00	7,849.00 11		
TOTAL GOVERNMENT AND GOVERNMENT AGENCY BONDS	300,000.00		340,815.00	7, 17,	323,576.62	17,238.38	2.2842	13,500.00
			4,945.14 3	4,945.14 345,760.	326,884.00	13,931.00		
						Unrealized/		
	Quantity /		Market Value/		Adjusted Cost /	Economic	Yield to Maturity	Estimated
	Current Face	Market Price	Accrued Income	Unit Cost	Original Cost	Gain (Loss)	in Percentage	Annual Income
OTHER FIXED INCOME								
GS HIGH YIELD FUND								
GS HIGH YIELD FUND INSTITUTIONAL SHARES	4,197.453	6.9400	29,130.32	7.4450	31,249.88	(2,119.56) (869.68)		2,400.94

Page 9 of 23

¹¹ This figure represents Unrealized Gain (Loss) calculated based on Onginal Cost

¹⁹ This represents a bank deposit of an affiliated bank reflected hera for your convenience and is not cash held in your brokerago or custody account. Please see the enclosed Bank Statement page(s) for specific information related to your bank deposit. Not a Deposit. Not a Deposit. Not FDIC Insured May Lose Value (Excluding Goldman Sachs Bank Deposit Account, Term Deposits and Certificates of Deposit. Account and Term Deposit Account offered by Goldman Sachs Bank USA. Member FDIC



DHARMA GRACE FDN.- ADV.Holdings (Continued)

Period Ended August 31, 2011

FIXED INCOME (Continued)								
	Quantity /		Market Value /		Adjusted Cost /	Unrealized	Yield to Maturity	Estimated
	Corrent Face	Market Price	Accrued Income	Unit Cost	Original Cost	Gein (Loss)	in Percentage	Annual Income
OTHER FIXED INCOME								
JPMORGAN EMBI GLOBAL CORE INDEX FUND (ISHARES)								
ISHARES JP MORGAN USD EMERGING MARKETS BOND FUND-ETF Moody's Ba2	142.00	111.1700	15,786.14	105.3327	14,957.24	828.90		762.00
						Unrealized/		
	Quentity / Current Face	Market Price	Market Value / Accrued Income	Unit Cost	Adjusted Cost / Original Cost	Economic Gain (Loss)	Yield to Maturity in Percentage	Estimated
TOTAL OTHER FIXED INCOME			44,916.46		46,207.12	(1,290.66)	3	3,162.94
TOTAL FIXED INCOME			385,731.46	4,945.14 340,674.60	369,783.74 ~ 373,091.12	15,947.72	2,2842	16,662.94
PUBLIC EQUITY								
	Quantity	Market Price	Market Value / Accrued Income	Unit Cost	Cost Basis	Unrealized Gain (Loss)	Dividend	Estimated Annual Income
US EQUITY								
RUSSELL 2000 INDEX FUND (ISHARES)								
ISHARES RUSSELL 2000 INDEX FUND (IWM)	345.00	72.6500	25,064.25	80.5772	27,799.12	(2,734.87)	1.2981	325.37
NON-US EQUITY								
MSCI EAFE INDEX FUND (ISHARES)								
ISHARES TR-ISHARES MSCI EAFE INDEX FUND ETF (EFA)	2,664.00	53.5700	142,710.48	60.0599	159,999.70	(17,289.22)	3.1346	4,473.39
MSCI EMERGING MARKETS INDEX FUND (ISHARES)								
ISHARES MSCI EMERGING MKT INDEX FUND ETF (EEM)	610.00	42.7500	26,077.50	45.7683	27,918.66	(1,841.16)	1.9188	500.38
TOTAL NON-US EQUITY			168,787.98		187,918.36	(19,130.38)	2.9468	4,973.77
TOTAL PUBLIC EQUITY			193,852.23 /		215,717.48	(21,865.25)	2,7336	5,299.14
			Market Value		Adjusted Cost /* Original Cost	Unrealized Gain (Loss)		Estimated Annual Income
TOTAL PORTFOUO			587,377.27		588,349.66 591,657.04	(5,917,53) (9,224,91)		21,965.75

⁶ Original Cost is price paid by purchaser adjusted for amusal original issue discount inclusions and/or return of capital adjustments. If applicable, Adjusted Cost reflects adjustments to Original Cost for market discount acception and/or premium amount amount inception to date distributions.

Adjusted cost for GMS Portfolios and Alternative Investments are determined by inception to date contributions minus inception to date distributions.

Page 10 of 23

Portfolio No: XXX-XX826-6



DHARMA GRACE FDN.- SOUND SHORE: LCV Holdings

Period Ended August 31, 2011

İ		
l		
l		
l	_	
l	=	١
l	Č	١
ŀ	ŭ	į
l	ے	3
ı	_	١
ı	-	
ı	α	1
ı	=	
ı	-	•

¹⁹ This represents a bank deposit of an affiliated bank reflected hare for your convenience and is not cash held in your brokarage or custody account. Please see the enclosed Bank Statement page(s) for specific information related to your bank deposit.

Page 7 of 49

Brokenege and securities services provided by Goldman, Sachs & Co. Bank Deposit Account, Centificate of Deposit Account and Term Deposit Account offered by Goldman Sechs Bank USA, Member FDIC Not a Deposit. Not FDIC bisured May Lose Value (Excluding Goldman Sarhs Bank Deposit Account, Term Deposits and Certificates of Deposit).



DHARMA GRACE FDN.- SOUND SHORE: LCV Holdings (Continued)

Period Ended August 31, 2011

PUBLIC EQUITY (Continued)		•				ļ		
			Market Value/			Unrealized	Dividend	Estimated
	Ouentity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gein (Loss)	Yield	Annual Income
US EQUITY								
SOUND SHORE: LARGE CAP VALUE								l
INVESCO LTD. CMN (IVZ)	214.00	18.3000	3,916.20	24.7950	5,306.13	(1,389.93)	2.6776	104.86
			26.22					
MARATHON PETROLEUM CORPORATION CMN (MPC)	82.00	37.0600	3,038.92	40.2139	3,297.54	(258.62)	2.1587	65.60
			16.40	!				
MARSH & MCLENNAN CO INC CMN (MMC)	108:00	29.7200	3,209.76	28.1108	3,035.97	173.79	2.9610	95.04
METLIFE, INC. CMN (MET)	104.00	33.6000	3,494.40	43.9939	4,575.37	(1,080.97)	2.2024	76.96
MICROSOFT CORPORATION CMN (MSFT)	192.00	26.6000	5,107.20	26.5803	5,103.41	3.79	2.4060	122.88
			30.72					
NEWMONT MINING CORPORATION CMN (NEM)	73.00	62.6200	4,571.26	56.5871	4,130.86	440.40	1.9163	87.60
OWENS-ILLINOIS INC CMN (OI)	173.00	18.9400	3,276.62	29.5696	5,115.54	(1,838.92)		
PFIZER INC. CMN (PFE)	122.00	18.9800	2,315.56	19.0918	2,329.20	(13.64)	4.2150	97.60
			24.40					
PUBLIC-SVC ENTERPRISE GROUP HOLDING CO (PEG)	84.00	34.1300	2,866.92	30.8393	2,590.50	276.42	4.0141	115.08
SOUTHWEST AIRLINES CO CMN (LUV)	322.00	8.6200	2,775.64	12.1757	3,920.56	(1,144.92)	0.2088	5.80
			1.45					
STATE STREET CORPORATION (NEW) CMN (STT)	78.00	35.5200	2,770.56	44.5809	3,477.31	(706.75)	2.0270	56.16
SUNDCO INC CMN (SUN)	104.00	38.1400	3,966.56	42.0969	4,378.08	(411.52)	1.5732	62.40
			14.85					;
SYMANTEC CORP CMN (SYMC)	208:00	17.1500	3,567.20	18.0892	3,762.55	(195.35)		
TEXAS INSTRUMENTS INC. CMN (TXN)	126.00	26.2100	3,302.46	34.8239	4,387.81	(1,085.35)	1.9840	65.52
TIME WARNER INC. CMN (TWX)	140.00	31.6600	4,432.40	35.7859	5,010.03	(577.63)	2.9690	131.60
			32.90					
VALERO ENERGY CORPORATION CMN (VLO)	00'0	22.7200	000				0.8803	
			3.35					
VISA INC. CMN CLASS A (V)	46.00	87.8800	4,042.48	74.7083	3,436.58	605.90	0.6827	27.60
			6.30					
								!

Page 8 of 49

Portfolio No: XXX-XX827-4



DHARMA GRACE FDN.- SOUND SHORE: LCV

Holdings (Continued)

Period Ended August 31, 2011

PUBLIC EQUITY (Continued)								
			Market Value/			Unrealized	Dividend	Estimated
	Quantity	Market Price	Accrued Income	Unit Cost	Cost Basis	Gain (Loss)	Yield	Annual Income
US EQUITY	i							
SOUND SHORE: LARGE CAP VALUE								
WAL MART STORES INC CMN (WMT)	74.00	53.1900	3,936.06	53.9093	3,989.29	(53.23)	2.7449	108.04
WESTERN DIGITAL CORP CMN (WDC)	27.00	29.4900	1,680.93	29.9249	1,705.72	(24.79)		
CREDIT SUISSE GROUP SPON ADR SPONSORED ADR CMIN	111.00	28.7000	3,185.70	42.6994	4,739.63	(1,553.93)	5.1540	164.19
FLEXTRONICS INTERNATIONAL LTD CMN (FLEX)	568.00	5.7500	3,266.00	7.9204	4,498.81	(1,232.81)		
LYONDELLBASELL INDUSTRIES N.V. CMN CLASS A (LYB)	90.00	34.6500	3,118.50	36.1701	3,255.31	(136.81)	0.8658	27.00
NOVARTIS AG-ADR SPONSORED ADR CMN (NVS)	49.00	58.4600	2,864.54	54.9096	2,690.57	173.97	3.4303	98.26
SANOFI SPONSORED ADR CMN (SNY)	100.00	36.5700	3,657.00	37.9203	3,792.03	(135.03)	3.6164	132.25
TOTAL SOUND SHORE: LARGE CAP VALUE			144,065.19 350.91	1 -	164,013.37	(19,948.18)	2.2201	2,488.78
			Market Value		Adjusted Cost /* Original Cost	Unrealized Gain (Loss)		Estimated Annual Income
TOTAL PORTFOLIO			144,416.10		164,013.37	(19,948.18)		2,488.78
	557	Less cash	(1913.38)	رد ا	(6913.36)			

Page 9 of 49

 ^{*} Original Cost is prime part by purchaser adjusted for annual original discount inclusions and/or return of capital adjustments, if applicable. Adjusted Cost reflects adjustments to Original Cost for market discount accretion and/or premium amountuation. Adjusted cost for GMS Portfolios and Alternative Investments are determined by incaption to date contributions minus incaption to date distributions.
 Portfolio No. XXX-XX827-4